ﬁ ;" , $ %2 Moltiplicare per potenze di dieci ( numero mancante
)

Nome: Data: Punteggio:
8,575 x =85.75 8,792 x =879.2
5,335 x = 5335 10, 243 x =1024.3
6, 738 % = 6738 10, 028 x = 10028
3,626 % =362.6 10, 059 x =100.59
1,57 % =15.7 1,177 x =117.7
8,79 x = 8790 2,731 x =2731
10, 596 x = 105.96 7,489 x = 74.89
7,776 % =77.76 7,595 x =759.5
1,119 x = 1119 1,026 x = 1026
4,913 x = 4913 4,574 x = 4574
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Moltiplicare per potenze di dieci ( numero mancante

TEPPTY )

Nome: Data: Punteggio:

8,575 %10 =85.75 8,792 x 100 = 879.2

5,335 x 1000 = 5335 10,243 x 100 = 1024.3
6, 738 x 1000 = 6738 10, 028 x 1000 = 10028

3,626 x 100 = 362.6 10,059 x 10 = 100.59

1,57 x 10 =15.7

8,79 x 1000 = 8790

10, 596 x 10 = 105.96

7,776 x 10 ="717.76

1,119 x 1000 = 1119

4,913 x 1000 = 4913

1,177 x 100 = 117.7

2,731 x 1000 = 2731

7,489 x 10 = 74.89

7,595 x 100 = 759.5

1,026 x 1000 = 1026

4,574 x 100 =457.4
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